University of Kasdi Merbah Ouargla

Faculty of New Technologies for the Information and Communication

&y ! [N\ . . .
o ™ Department of Electronics and Communications

Module: Mathematics 3 L2 (Electronics, Automation, Telecommunication) Fxam Solutzon
Partie 01 : FEzxercise 1 (5 pts)

+ Calculate the volume:
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Exercise 2 (4 pts)

1. Study the convergence :
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So the S1 serie CONVERGE.
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2. Find the radius of convergence : 83 =Y. ,4.sin[(3x)"].
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So we get : |x| < % =R.... the radius of convergence R:E



Partie 02 :

Exercise 3 (6 pts)

+ Solve the following differential equation

y' 4+ 4y = 4.5sin(2.x) + 3.e**
Yo' +4y, =0
‘Y =Yoot Vp :{yp” +4y, =4.sin(2.x) + 3.e** We pose y, = k(x).yo
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= 2i
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y = (A — x).sin(2x) + B.cos(2x) + g e?*



Exercise 4 (5 pts)

+ Expand the equation according to the Fourier series

2.1
f(x):er_e—Zx : XE[—1,1]..........T:23W:T:Tl'

f(=x) = —f(x) ... .. s cen ee ... ... the function f(x) odd
=a,=0 Vn

(0]

f(x) = Z[ancos(nwx) + b,sin(nwx)] = 2 b,sin(nwx)
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